RETAN BHE 25 x 4OEHOFHE o1
K| [Erok (S5, A2, BB, C15)

(1) 25x12=25x4x| |=100x| [=] |

(2)  25x48=25x4x| |=100x| |

(3) 25x832=25x4x| |=100x| |=| |

ROFHEZEZF L. (S0, A0, Bi14740%, C#24730%)

(1) 25x8 (2)  25x20
(3) 25 x44 (4)  25x36
(5) 25 x 124 (6) 25 x 240
(7) 25 x 3200 (8) 25 x 2880
(9) 25 x 4444 (10) 25 x 32240
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3.

(1)

(2)

(3)

4.

(1)

(3)

(5)

(7)

(9)

K| IOk (SHISH, AR5, BHR4OB, C15)

25x84=25x4x|  |=100x] |

25x 852 =25x4x|  |=100x| |

25x16=25x4x|  |=100x| =]

|

ROFEZT L. (SHK30F, A0, B 147408, C#k24730%)

25 x 24

25 x 88

25 x 328

25 x 4800

25 x 8484

(2)

(4)

(6)

(8)

(10)

25 x 40

25 x 28

25 x 360

25 x 1680

25 x 12280
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1.

2.

R&7 A

BE 25 X 4DEHDEHE 01

K| [Erok (S5, A2, BB, C15)

(1) 25 x12=25x4x[3]=100x[3]=300]

(2) 25 x48 =25 x4 x[12]=100 x[12]=[1200]

(3) 25 x 832 =25 x4 x[208]= 100 x[208]=[20800]

ROFEZT L. (S0, A0, BH14740%, C#24730%)

(1) 25x8

=100 x 2
= 200

(3) 25 x 44

=100 x 11
= 1100

(5) 25 x 124

=100 x 31
= 3100

(7) 25 x 3200

= 100 x 800
= 80000

(9) 25 x 4444

=100 x 1111
= 111100
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(2)  25x20

=100 x 5
= 500

(4)  25x36

=100 x 9
=900

(6) 25 x 240

= 100 x 60
= 6000

(8) 25 x 2880

= 100 x 720
= 72000

(10) 25 x 32240

= 100 x 8060
= 806000
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3.

4.

K| IOk (SHISH, AR5, BHR4OB, C15)

(1) 25 x16=25x4x[4]=100 x[4]=[400]

(2) 25x84=25x4x[21]=100x[21]=[2100]

(3) 25 x 852 =25 x4 x[213]=100 x[213]=[21300]

ROFFEZE L. (SH30F, AS0F, B 1740, CH247 308 )

(1) 25 x24

=100 x 6
= 600

(3) 25 x 88

= 100 x 22
= 2200

(5) 25 x 328

= 100 x 82
= 8200

(7) 25 x 4800

= 100 x 1200
= 120000

(9) 25 x 8484

=100 x 2121
= 212100

(2) 25 x40

= 100 x 10
= 1000

(4) 25 x28

=100 x 7
=700

(6) 25 x 360

= 100 x 90
= 9000

(8) 25 x 1680

= 100 x 420
= 42000

(10) 25 x 12280

= 100 x 3070
= 307000
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